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H EH °C °C °C °C

1 7K *okok skokok *okok *okk
2 N *okok *okok kokok *okok
3 & *okok *okok kokok *okok
4 T *okk *okk %ok *okk
5 H 111 93 1,363 1,383
6 A 166 155 1,414 1,496
7 X 166 164 1,420 1,520
8 7K 167 165 1,443 1,495
9 VN 166 164 1,409 1,454
10 & 167 165 1,415 1,477
1 T 166 165 1,405 1,433
12 H 166 164 1,375 1,597
13 A 167 164 1,500 1,653
14 X 167 164 1,477 1,655
15 7K 166 164 1,515 1,615
16 VN 166 165 1,546 1,623
17 & 166 162 1,569 1,630
18 T 163 160 1,608 1,643
19 H 162 160 1,561 1,609
20 A 163 160 1,446 1,525
21 X 163 161 1,363 1,451
22 7K 163 161 1,361 1,418
23 VN 164 161 1,362 1,434
24 & 164 161 1,419 1,520
25 T 162 161 1,431 1,466
26 H 163 161 1,438 1,507
27 A 162 161 1,418 1,522
28 X 163 160 1,481 1,550
29 7K 164 161 1,423 1,496
30 VN 163 161 1,471 1,550
31 o 162 161 1,546 1,580

ATy - 159 - 1,530




